/DVIRB
3UDFRZQLN 5RINiDG P JU 6]\PDQHN 3LIDUF]J\N ODWD 7\J

7N 7N 7N
OHIRG\ND LQG\ZIGXDIQ\FK OHIRG\ND LQG\ZLGXDIQ\FK
IRUP UHNUHDFLL UXFKRZH! IRUP UHNUHDFLL UXFKRZH! = \FKRZDQH IJ\FIQH
Z PJUGI\PDQHN iz PJUG]\PDQHN iz PJUG]\PDQHN
3UDUF]\N ODUID $&6 3UDUF]\N ODUD $&6 & 3UDUF]\N ODUD $&6 &
ZIGRZQD 7,5/ 75/ 257& 75/ &
257 -
7N
OHIRG\ND [QG\ZIGXDIQ\FK 7\G] 7\G]
> IRUP UHNUHDFIL UXFKRZHI OHIRG\ND | [OHIRG\ND
I IDE PJU6]\PDOHN LQG\ZIGXDIQ [LQG\ZIGXDIQ
8 3UDUF]\N ODUID $&6 \FKIRIP | [\FK IRUP
=3 $(52%& 7.5/ UHNUHDFIL | [UHNUHDFIL
0 257/ UXFKRZHI | [IXFKRZHI
T iz P ||mE P
< 6]\PDQHN | [6]\PDQHN
n 3UDUFI\W | [3ubuFw
ODUD $& | [oDuD $&
6& 6&
75/ 75/
257& 257/
7N
OHIRG\ND LQG\ZLGXDIQ\FK
IRUP UHNUHDFLL UXFKRZH!
IDE PJUG]\PDQHN
3UDUFT\N ODUID $&6 &
75/ 257/
7N 7N
OHIRG\ND JUXSRZ\FK OHIRG\ND JUXSRZ\FK
IRUP UHNUHDFIL UXFKRZHI | |IRUP UHNUHDFIL UXFKRZHI
iz PJUG]\PDQHN IDE PJU6]\PDOHN
3UDUF]\N ODUID $&6 & | |3UDUF]\N ODUD $&6 &
75/ 257& 75/ 257/
=) 7\J
e 2UIDQUIDFID HYHQIYZ IXVINFTQNFK L
2 UIHNUHDFNIQAFK Z PJU 6T\PDQHN
3UDUF]\N ODUID = 750
=(C:
7\G]
2UJIDQLIDFID HYHQIYZ IXINVINFJQ\FK |
UIHNUHDFNIQ\FK GZ PJU 6]\PDQHN
3UDUF]\N ODUID = 7,50
=(&
= 7N 7N 7N
I 2UIDQLIDFID HYHQIZ OHIRG\ND JUXSRZ\FK OHIRG\ND JUXSRZ\FK
= IXUNVINFTQ\FK L IRUP UHNUHDFL UXFKRZH! IRUP UHNUHDFL UXFKRZH!
ﬁ UHNUHDFNIQNFK 2 PJU iz PJUG]\PDQHN IDE PJUG]\PDQHN
N 6]\PDQHN 3UDUFT\N 3UDUF]\N ODUD $&6 & 3UDUF]\N ODUD $&6 &
w oD = 7,50 75/ 257& 75/ 257/
=C: \ \




3UDFRZQLN 5RINiDG P JU 6]\PDQHN 3LIDUF]J\N ODWD 7\J

/DVIRB

7\J

2UIDQUIDFID HYHQlyZ

7N
2UIDQUIDFID HYHQIyZ IXA\VINFTQNFK L

76l 76l IXU\VINFTQ\FK L UIHNUHDFNIQ\FK G PJU 6]\PDQHN
OHIRG\ND | |oHIRG\ND UHNUHDF\IQ\FK GZ PJU 3UDUFT\N ODUID = 750
JUXSRZ\FK | |3uxsRZAFK 61\PDQHN 3UDUFT\N =(&
z IRUP IRUP oDUiD - 750
< UHNUHDFIL | |UHNUHDFL =(&
2 UXFKRZHI | |ixFrRZHI
N iz P | [iE P
— 61\PDQHN | [67\PDQHN
L 3DIFTW | [3iDurgww
oou $& | [oou s&
6 6
16RZQD | | z16RZQD
7,5/ 7,5/
257& 257/
=
)
@
©




